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(z* — 62 +5)° + (2% — 92 + 14)° — (22° — 152+ 19)° = 0. (1)
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(2> — 62 +5)" + (2* — 92 +14)" — (22> — 152+ 19)" = 0. (2)
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T (x2 - \/§x+2)5 + (zz - 1)5 - (2902 —V3z + 1)5 =0. (3)
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(I (a:2 - \/§m+2)7+ (m2 - 1)7 - (2x2 — 3z + 1) =0. (4)
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(D) (42% — 112 — 10)° — (622 + 11)°
— (4% — 62% — 11z — 21)° = 0;
(I) (42% — 112 — 10)" — (62 +11)"
— (4% —62% — 11z — 21)" = 0;
(D2 (42° — 11z — 10)° + 2 (622 4 11)°
+2 (42% - 622 — 11z — 21)°

- [(4333 — 11z —10)" + (622 + 11)*

+ (423 — 627 — 112 — 21)4]2 =0.
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a = 42® — 11z — 10, (4)
b= —62% — 11, (5)
c=—42% + 6z + 11z + 21, (6)
Sp=a"+b"+c* (neN), (7
P = — (bc+ ca+ab), (8)
Q = abe, (9)
W (1), (2), (3) Wil

S5 =0, (10)
Sy =0, (11)
285 — S5 = 0. (12)
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a+b+c=0, (13)
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Sn+3 =PSpt1+QSn (neN),
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Sp = 3,
Sy =0,
Sy = (a4 b+ )2 —2(bc + ca + ab) = 2P,
S3 = PS1 +QSo = 3Q,
Sy = PSy +QS; = 2P?,
S5 = PS3+ QS2 = 5PQ,
Se = PS4+ QS3 = 2P% +3Q?,
S; = PS5 + QSy = TP2Q,
Ss = PSg + QS5 = 2P* 4+ 8PQ?,
BMOTRR (1), (2), (3) B (10), (11), (12) AL A7
5PQ =0,
7P2Q =0,
16PQ?% = 0.
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(HP=0=>582=0=a+b2+c2=0
=a=b=c=0,Tf#%

(i) Q=0= abc=0= a,bdlc=0.
a=0=(z—2) (42> +8x+5) =0=>z =2
b=0= 622 + 11 = 0, Jff.

c=0=—(z—3) (42 +62+7) =0=2=3.
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HP=0=a®>+b>+(a+b)2=0=a’>+ab+b>=0

=a= wbﬁwb,
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ﬁfhw=75+g'=cos§n+isin§n A1) 3 REERR. M

a=wb= 42 — 11z — 10 = w (—62” — 11)
= (z — w) (42° + 10wz — 21 — 10w) = 0; (35)
a=wb= 42" — 11z — 10 = @ (—6z° — 11)
= (z —w) (42® + 10wz — 21 — 10w) = 0. (36)
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r= V2821, (39)
0= %arccos 2\}%. (40)
(i) @=0=a,bFHc=0. (41)
a:o:»z:Q,%(—Qii). (42)
b:o:m:i\/%ili. (43)
6:0:>:c=3&(—3i\/ﬁi) (44)
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